

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CM506 2-Pack		
CPL 1	2	CE8CP17	17" Mesh Jumper	\$ 120.00	\$240.00
2	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
3	1	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
5	1	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
6	1	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



QTY.	PRODUCT CODE		LIST	EXTENDED
		Skipped Option		
1	CHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$50.00
1	CHC15R	STDStandard Paint FinishesSkipped OptionSkipped Option15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$50.00
6	CHCB2	STD Standard Paint Finishes Skipped Option Skipped Option Corner Bracket, Left and Right, Sold as a Pair	\$ 22 00	\$132.00
U	011082		Ψ ΖΖ.00	ψ152.00
2	СНР30-2	STDStandard Paint FinishesSkipped OptionSkipped Option30"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$230.00
1	СНР30-3	STD Standard Paint Finishes Skipped Option Skipped Option 30"h, 3-Way, Universal Corner Post (With All Clips), Post Trims. Post Base Cap	\$ 101.00	\$101.00
	1 6 2	 CHC15L CHC15R CHCB2 CHP30-2 	Skipped Option 1 CHC15L 15" Left Cantilever, Mounting Bracket Included STD Standard Paint Finishes Skipped Option Skipped Option STD Standard Paint Finishes Skipped Option Standard Paint Finishes Skipped Option Ski	Skipped Option Skipped Option Skipped Option STD Standard Paint Finishes Skipped Option Skipped Option Skipped Option Skipped Option STD Standard Paint Finishes Skipped Option Standard Paint Finishes StD Standard Paint Finishes S



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Finishes		
				Skipped Option		
				Skipped Option		
12	1	CMDAOH48		.12"d x 15"h, Center Mount Laminate Overhead, Top Panels, Support Brackets Included	\$ 1,273.00) \$1,273.00
				Skipped Option Skipped Option		
				Skipped Option		
13	3	CMET30	30"h, End	of Run Trim Insert for Panel	\$ 21.00	\$63.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
14	2	CMFM3024N0		'w, Monolithic Fabric Panel, Non-Powered, Raceway Punch (2)	\$ 365.00	\$730.00
			STD 	Standard Paint Colors Skipped Option Skipped Option Skipped Option		
				Skipped Option		
15	1	CMFM3024P2	30"h x 24' Raceway	'w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 519.00	\$519.00
			STD 	Standard Paint Colors Skipped Option Skipped Option		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
16	2	CMFM3036N0	30"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$894.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
17	2	CMFM3036P1	30"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$1,330.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
18	1	CMFM3048N0	30"h x 48"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 525.00	\$525.00
			STD Standard Paint Colors		
			Chinned Online		
			Skipped Option		
			Skipped Option		
			Skipped Option		
19	3	CMPS24	12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$885.00
			Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
20	4	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$1,320.00
			Skipped Option Skipped Option		
21	2	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$34.00
			Skipped Option Skipped Option		
22	2	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$734.00
GCU			 LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option Skipped Option 		
23	2	CU1517	16.5"d x 14.5"w x 1.5"h, Cushion for 19"d Mobile Box/File Pedestal, SIDEBAR	\$ 145.00	\$290.00
			Skipped Option Skipped Option		
24	2	S1619MP	19"d x 16"w x 25"h, Mobile Box/File Pedestal w/ Handles, Locking, Inset Top, Can Accommodate Letter & Legal hanging Files, Counterweight, Front Casters Locking, SIDEBAR STORAGE	\$ 989.00	\$1,978.00



ITEM	QTY.	PRODUCT CODE		LIST EXTENDE
			~SBTop	SideBar Laminate Top Finishes
				Skipped Option
			~SBB	SideBar Laminate Base Finishes
				Skipped Option
			~SBSF	SideBar Storage Door/Drawer Front Finishes
				Skipped Option
25	1	S7220ASL	20"d x 72" Open Con	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (LT), \$1,656.00 \$1,656.0 npartment (RT), Low Credenza, SIDEBAR STORAGE
				Skipped Option
			~SBTop	SideBar Laminate Top Finishes
				Skipped Option
				Skipped Option
			~SBB	SideBar Laminate Base Finishes
				Skipped Option
			~SBSF	SideBar Storage Door/Drawer Front Finishes
				Skipped Option
26	1	S7220ASR	20"d x 72" Open Con	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (RT),
				Skipped Option
			~SBTop	SideBar Laminate Top Finishes
				Skipped Option
				Skipped Option
			~SBB	SideBar Laminate Base Finishes
				Skipped Option
			~SBSF	SideBar Storage Door/Drawer Front Finishes
				Skipped Option



ITEM QTY.	PRODUCT CODE	LIST	EXTENDED
	Skipped Option		
	Skipped Option		
	Skipped Option		

ALIAS SUBTOTAL: \$ 15,169.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CM506 4-Pack		
CPL 27	4	CE8CP17	17" Mesh Jumper	\$ 120.00	\$480.00
28	1	CE8CP70	Skipped Option 70" Long, Pass Thru Cable	\$ 202.00	\$202.00
29	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
30	2	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
31	2	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
32	2	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
33	2	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00
34	2	CHC15L	Skipped Option 15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$100.00
			STD Standard Paint Finishes		
			Skipped Option Skipped Option		
35	2	CHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$100.00
			STD Standard Paint Finishes Skipped Option		
			Skipped Option		
36	12	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$264.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
37	4	CHP30-2	30"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$460.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
38	1	СНР30-3	30"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
39	1	CHP30-4	30"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$82.00
			STD Standard Paint Finishes		
			Skipped Option		
40	2	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.0	0 \$2,546.00
			Skinned Ontion		
			Skipped Option Skipped Option		
			Skipped Option		
41	5	CMET30	30"h, End of Run Trim Insert for Panel	\$ 21.00	\$105.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
42	4	CMFM3024N0	30"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$1,460.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
43	2	CMFM3024P2	30"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$1,038.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
44	4	CMFM3036N0	30"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$1,788.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
45	4	CMFM3036P1	30"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$2,660.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
46	2	CMFM3048N0	30"h x 48"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 525.00	\$1,050.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
47	6	CMPS24	12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$1,770.00
			Skipped Option		
			Skipped Option		
48	8	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$2,640.00
			Skipped Option		
			Skipped Option		
49	7	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$119.00
			Skipped Option		
			Skipped Option		
50	4	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			LP	Thermally Fused Laminates 1" Thickness		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
GCU						
51	4	CU1517	16.5"d x 1 Pedestal, a	4.5"w x 1.5"h, Cushion for 19"d Mobile Box/File SIDEBAR	\$ 145.00	\$580.00
				Skipped Option		
				Skipped Option		
52	4	S1619MP	Locking, I	'w x 25"h, Mobile Box/File Pedestal w/ Handles, nset Top, Can Accommodate Letter & Legal hanging nterweight, Front Casters Locking, SIDEBAR	\$ 989.00 J	\$3,956.00
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
53	2	S7220ASL	20"d x 72" Open Com	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (LT) npartment (RT), Low Credenza, SIDEBAR STORAGE	[,] \$ 1,656.0	00 \$3,312.00
				Skipped Option		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
54	2	S7220ASR	20"d x 72" Open Con	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (R npartment (LT), Low Credenza, SIDEBAR STORAG	:T), \$ 1,656. E	.00 \$3,312.00
				Skipped Option		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
				Skipped Option		
			 ~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		





ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CM506 6-Pack		
CPL 55	6	CE8CP17	17" Mesh Jumper	\$ 120.00	\$720.00
56	2	CE8CP70	Skipped Option 70" Long, Pass Thru Cable	\$ 202.00	\$404.00
57	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
58	3	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
59	3	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
60	3	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
61	3	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00
62	3	CHC15L	Skipped Option 15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
63	3	CHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
64	18	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$396.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		
65	6	СНР30-2	30"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$690.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
66	1	CHP30-3	30"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
67	2	CHP30-4	30"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$164.00
			STD Standard Paint Finishes Skipped Option		
			Skipped Option		
68	3	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.0	0 \$3,819.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
69	7	CMET30	30"h, End of Run Trim Insert for Panel	\$ 21.00	\$147.00
			STDStandard Paint FinishesSkipped OptionSkipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
70	6	CMFM3024N0	30"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$2,190.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
71	3	CMFM3024P2	30"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$1,557.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
72	6	CMFM3036N0	30"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$2,682.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
73	6	CMFM3036P1	30"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$3,990.00
			STD Standard Paint Colors		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
74	3	CMFM3048N0	30"h x 48"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 525.00	\$1,575.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
75	9	CMPS24	12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$2,655.00
			Skipped Option		
			Skipped Option		
76	12	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$3,960.00
			Skipped Option		
			Skipped Option		
77	11	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$187.00
			Skipped Option		
			Skipped Option		
78	6	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,202.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			LP	Thermally Fused Laminates 1" Thickness		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
GCU						
79	6	CU1517	16.5"d x 1 Pedestal, s	4.5"w x 1.5"h, Cushion for 19"d Mobile Box/File SIDEBAR	\$ 145.00	\$870.00
				Skipped Option		
				Skipped Option		
80	6	S1619MP	Locking, I	'w x 25"h, Mobile Box/File Pedestal w/ Handles, nset Top, Can Accommodate Letter & Legal hanging nterweight, Front Casters Locking, SIDEBAR	\$ 989.00 J	\$5,934.00
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
81	3	S7220ASL	20"d x 72" Open Con	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (LT) npartment (RT), Low Credenza, SIDEBAR STORAGE	[,] \$ 1,656.(00 \$4,968.00
				Skipped Option		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
82	3	S7220ASR	20"d x 72' Open Con	'w x 22.85"h, 36"w Lateral file w/ Handle & Lock (F npartment (LT), Low Credenza, SIDEBAR STORAG	^{RT),} \$ 1,656 E	.00 \$4,968.00
				Skinned Ontion		
				Skipped Option		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		

ALIAS SUBTOTAL: \$45,222.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			CM506 8-Pack		
CPL 83	8	CE8CP17	17" Mesh Jumper	\$ 120.00	\$960.00
84	3	CE8CP70	Skipped Option 70" Long, Pass Thru Cable	\$ 202.00	\$606.00
85	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
86	4	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
87	4	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
88	4	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
89	4	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00
90	4	CHC15L	Skipped Option 15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			STD Standard Paint Finishes Skipped Option		
91	4	CHC15R	Skipped Option Skipped Option 15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$200.00
			STD Standard Paint Finishes Skipped Option Skipped Option		
92	24	СНСВ2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$528.00
93	8	СНР30-2	STDStandard Paint FinishesSkipped OptionSkipped Option30"h, 2-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 115.00	\$920.00
			STD Standard Paint Finishes		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
94	1	СНР30-3	30"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
95	3	CHP30-4	30"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$246.00
			STD Standard Paint Finishes Skipped Option		
			Skipped Option		
96	4	CMDAOH48	48"w x 14.12"d x 15"h, Center Mount Laminate Overhead, Top Mount on Panels, Support Brackets Included	\$ 1,273.0	0 \$5,092.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
97	9	CMET30	30"h, End of Run Trim Insert for Panel	\$ 21.00	\$189.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
98	8	CMFM3024N0	30"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$2,920.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
99	4	CMFM3024P2	30"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$2,076.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
100	8	CMFM3036N0	30"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$3,576.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
101	8	CMFM3036P1	30"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$5,320.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
			Skipped Option		
102	4	CMFM3048N0	30"h x 48"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 525.00	\$2,100.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
103	12	CMPS24	12"h x 24"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 295.00	\$3,540.00
			Skipped Option Skipped Option		
104	16	CMPS36	12"h x 36"w, Privacy Panel, w/Aluminum Clamps, Glass	\$ 330.00	\$5,280.00
			Skipped Option		
			Skipped Option		
105	14	CMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$238.00
			Skipped Option		
			Skipped Option		
106	8	CWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,936.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
GCU					
107	8	CU1517	16.5"d x 14.5"w x 1.5"h, Cushion for 19"d Mobile Box/File Pedestal, SIDEBAR	\$ 145.00	\$1,160.00
			Skipped Option Skipped Option		
			Skipped Option		
108	8	S1619MP	19"d x 16"w x 25"h, Mobile Box/File Pedestal w/ Handles, Locking, Inset Top, Can Accommodate Letter & Legal har Files, Counterweight, Front Casters Locking, SIDEBAR STORAGE		\$7,912.00
			~SBTop SideBar Laminate Top Finishes		
			Skipped Option		
			~SBB SideBar Laminate Base Finishes		
			Skipped Option		
			~SBSF SideBar Storage Door/Drawer Front Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
109	4	S7220ASL	20"d x 72"w x 22.85"h, 36"w Lateral file w/ Handle & Lock Open Compartment (RT), Low Credenza, SIDEBAR STOR	: (LT), \$ 1,656.0 AGE	00 \$6,624.00
			 Skipped Option SBTop SideBar Laminate Top Finishes Skipped Option Skipped Option Skipped I Laminate Base Finishes Skipped Option 		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
110	4	S7220ASR	20"d x 72" Open Com	w x 22.85"h, 36"w Lateral file w/ Handle & Lock (RT) partment (LT), Low Credenza, SIDEBAR STORAGE	^{),} \$ 1,656.(00 \$6,624.00
				Skipped Option		
			~SBTop	SideBar Laminate Top Finishes		
				Skipped Option		
				Skipped Option		
			~SBB	SideBar Laminate Base Finishes		
				Skipped Option		
			~SBSF	SideBar Storage Door/Drawer Front Finishes		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			ALIAS SU	JBTOTAL: \$ 60,223.00		

TOTAL EXTENDED LIST:

\$150,818.00